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100,000*3.00% + (97,000*1.05)*1.70%

=3,000 +1,731 =4,731
(97,000*1.05) - 1,731)*1.05*1.70%
= 100,119*1.05*1.70% = 1,787
(100,119*1.05) - 1,787)*1.05*1.70%
= 103,338*1.05*1.70% = 1,845
(103,338*1.05) - 1,845)*1.05*1.70%
= 106,660*1.05*1.70% = 1,904
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(100,000*1.05)*2.79%+(100,000*1.05)*3.00%(CDSC)

= 2,930 + 3,150 = 6,080

((100,000*1.05)-2,930)*1.05*2.79% +((100,000*1.05) - 2,930)*1.05*2.00%(CDSC) = 102,070*1.05*2.79%+102,070*1.05*2.00%

=2,990 + 2,143 = 5,133

((202,070*1.05)-2,990)*1.05*2.79% +((102,070*1.05) - 2,990)*1.05*1.00%(CDSC) = 104,184*1.05*2.79%+104,184*1.05*1.00%

= 3,052 + 1,094 = 4,146

((104,184*1.05)-3,052)*1.05*1.70% = 106,341*1.05*1.70%

=1,898
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